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PHYSICS
(Skill Enhancement Course)

- Answer the Questions from any one Option.

OPTION - A
Paper : PHY-SE-3014
(Physics Workshop Skills)

OPTION - B
Paper : PHY-SE-3024
( Computational Physics Skills)

OPTION-C
Paper : PHY-SE-3044
( Digital Photography and Editing )
OPTION-D

Paper : PHY-SE-3064
( Weather Forcasting )

OPTION-E
Paper : PHY-SE-3074
(Applied Optics)
OPTION-F

Paper : PHY-SE-3094
(PageMaker )

Full Marks : 50
Time : Two hours
The figures in the margin indicate
Jull marks for the questions.
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OPTION-A
Paper : PHY—SE—3014
-( Physics Workshop Skills )

Answer either in English or in Assamese.

-Answer the - following objective- -type
questions : (any Sour) 1x4=4

O IR Y e T (Riewieart 51351

(@)

()

©
@

(e)

What is the difference between basic /

fundamental and derived unit ?
AT W T G TS ANy B2

Write down the S.I: unit of ter-rlperatl.lre."
TR0 5, WY SR Bl |

What is the least count of a common :
- meter ‘scale ?

mwtﬁmam«awﬁ% e R e

What do you mean by p1tch of a screw
gauge ? -

§ 1% GOR By o B 3mie
Mild steel is a primary alloy of
and (Fill in the blanks)

TEAO____ W3y g
(YT 31 op3er )
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() In which work a ile’ is used in a
mechanical workshop ?

e I GBS FiE [ e IR =14
e

(99 Power generation system in an
automobile converts into work. -

(Fill in the blank)

w%’ﬂaﬁa—*f%%wm Ao 3
Wﬁmmj (ﬁﬁ%ﬂf)

() What is the ‘colour code’ of a
resistance? '

@WQWWW@’W%{@?

2. Answer the following questlons In very short :

(any three) 2x3=6
O 2PTRROR Tl YO s Rt ¢ (Reae o)

(@) In a slide caliper twenty (20) divisions
of the.Vernier scale coincide with the
ninteen (19) divisions of the main scale.

- If one smallest division of main scale
equals to one mm (Imm), find out the
Vernier . constant of the instmment.
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. | mm@sﬁm«aﬁmmamw
. T (GR) CFR 3 5B OISR T | Bt 3T (e

" (b).

@

S O NN W 1mm =W, (O0F (TR
T 799 I ShRveat|

If Skm/h=xcm/s2, find the value of

T Skm/h = x cm/s2, xT T BN |

~ Why is safety’ measure in a mechanical
- workshop important ?

segyf ¢

Whét is sheet metal ? Write down two
metals used in sheet metal work.

IR E NIRRT A A—

- CIA Y AT W foal

(o)

Write down‘ two important functions of
lubricating oil in machine operation.
T 9Bl 5T R R (oo
UORS WL R/ 757 FRG Fray |

What is multimeter ? Write down the
difference between digital multimeter

- and analog multimeter.

RURIRESETI T o TSP e e—

s sty Bt |
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3. Answer any two questions from the .
following : . 5x2=10

oot fal Rz g5 oo T vt s

(@) Write down five common materials used
in manufacturing/mechanical workshop.
TG PINIS [ (A 55! AR 39 I
ferat | |

(b) Write down step by step process to
measure volume of a solid block (say
cube) using a Vernier calliper. :
SiiaE (PN Tt < T (o1l T (TF)
<O OIS TGN safesrs e e |

{c) () What do you mean by soldering
- and desoldering in an electronic

| ‘ circuit ? » 3
| ERERE IEN GBS G w91
IS U N & o2 '

(i) Write down at least one content of
- soldering . wire used during

soldering process. 1.
R I OITIeTe IR ot Ricerz
<51 AIga I Bray | |
() What is the full form of P.C.B. in
~ electrical circuit ? 1
TN Ffire eeR = BB RS ospef
I Fe

3 (Sem-3/CBCS) PHY SE/G 5
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}
i

@0

(e)

- @)

Write down the difference between
regulated and unregulated powe;’

supply. : :

Fafgre i sfafie Rige SRz T
A AL i

Draw the block diagram of 2
regulated power supply. 3

fafie Rige e s @ @ 9O
efbaT e e 3|

2V/div

2uS/div
Fig. 1

Display of a cathod ray oscilloscope
(CRO) screen for the measurement of g
signal is shown as above (Fig. 1). Find
(i) Time period, (i) Frequency, (iii) Peak
voltage, (iv) Peak-to-peak voltage,
and (v) r.m.s. value of the signal. 5

3 (Sem-3/CBCS) PHY SE/G 6

YR PEe (RS [ @AT [ Dot
GO oo 9B ARt Rew MFe (AC
signal) 9%1 ewms Cxrz1 (i) = ar,
(i) TR, (iii) TR, (iv) TR A Afee
o1, @iz (v) r.m.s. RS Refa =11

(i () -Whatis the utility of a gear system |

in autog}obile car ? 2
U0 TARE MG 9¥we Piee v
) ' TR (LR 2 :

(i) Discuss two different types of

braking  systém used in an
automobile vehicle. 2

SBRIEE A GITS TR @[ gy
QR Q9 [ @R i Rag
IGE

(iii) What is pulley ? 1
FioReet 52

4. Answer any three questions from the
following : 10x3=30

s i erseRE o1 ReeI o et B

(@) () What is a sextant ? Describe its
working principle. 5

(RS 2 3aR DGR aft 384 |
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(i) How can one calculate the height |

of a building using sextant ? 5

oot Rffs Tl mﬁamm

) )

(i)

(i)

sloml IR AAR2

Why is workshop technology |
. ‘important ?

T R R wwge

Writé down short notes on each of
the following processes In
mechanical workshop : 6

(a) Casting
(b) Machining

(c) Forming

e T @Bre e (et wers Al
AT [RAE 590 ot

(@) R

(b) ol

() TR

Write down three prime machin®

tools wused in mechanlca.'}
workshop

f%ﬁ?lqaﬂﬁiﬁaﬂmﬁﬂm
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(c)

(d)

()

@)

(ifi)

What is the basic difference
between soldering, welding and

brazing ? 3
BB, SCIAR W @@%W"ﬂ@ |
IGh

Discuss five different types of
joints observed in welding process.

5
9’7557‘ @?.Fﬁf 2@‘13 \‘3@%5\ IR 1%*3
it

What do you understand by
welding defects ? 2

wfer, e I R gaie

Draw the symbols of the following discrete
electronic/electrical components :

%)

(@)
(iii)
(iv)

()

(v
(vii)

Diode

Zener diode

Light emiting diode
Sinigle electronic cell _

Battary
Inductor

Capac1tor

(viii) Variable resistor

3 (Sem-3/CBCS) PHY SE/G 9
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(lll) With the help of block dlagram.
- . explain different components of a
(UC) PNP transistor cathod ray oscilloscope (CRO).
. () NPN transistor AT QTS B (T J Wfﬁ’mﬂa
wers fiml Wﬁ@/‘ﬂﬁw LGRS Rfon sz 3t w1
|l ez fora ¢ | :
:] (i) What is the importance of switches
|| () oo in an electronic circuit ? 2
- (i) (SR ©Ee EEAT T8 @Bre B A P
111 . (ii) g oo wiare ool e |
Jl'h (iv) s (i) Draw and explain transistor based
!Efj ) R electronic switch. 8
‘i (vi) SR GrifSrBs TR T AR R o
! o SIS G
) s e
! (viii) RS e (g) () Draw the circuit diagram of a timer
3 - ‘ circuit (Astable multivibrator)
i ) PNP (Gafdg using IC555. . : 5
l
:;I () NPN GRees w12 555 TR TR G I TET,
} ! (€) () What is cathog ray oscilloscop® ’1) (R TOSIREGT) Bl e 41|
. H ' ' ‘ (i) What is the dﬁty cycle of an
‘1, T 3 Wﬁamq =9 astable multivibrator ?- 2
| (@) What ig basic difference betwee™ IRCEIE NFTeREGR by Bl Bl
‘ multimeter ganq oscilloscope ? e
R iy S e 45 e
T Ny & n
3 (Sem-3/CBCS) PHY SE/G 11 Contd.
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j (@) In an astable multivibrator by

M) @)

using IC555 the. .duty cycle’
) determining resistor and capacitor

are given by R, =1kQ (resistance

between IC Pin Nos. 7 and 4)-

Rp=10kQ (resistance between 7
and 2) and capacitor C=0.14F
(capacitor between IC Pin Nos. 2
and 1). Calculate the output

. frequgncy of the multivibrator-
IC555 IRzm TR qeiat @guoL

<o o wizgee AP

QR Ry = 1k (i3l PR 7 T4
ITES), Ry = 10k w1 (w2 PF 7

9% 2 3 %7S) i i Wi € = 0. 14F

(S5 B 2 . 1 3 ) o SIR

(IETROR Ffmice fid 21 |

What is the use of a galvanomete!

In an electrical circuit ? 1

How is a galvanometer conVCfted
0 a voltmeter and an ammeter 4

CRTSTRBR @51, <5t woRER I 0

(i)

(iv)

Expiain with diagram how a

voltmeter and an ammeter is
connected. across a resistance to

‘measure voltage drop and current

passing through the resistor. 4

B @R TS Req oIe % 2T
GfRea @Bl SFORioR W% GG 9Bl
(FET AN T ] I ]9 '

What is S.I. unit of current ?

oI S.I. GTF e

: A 3 (Sem-3/CBCS) PHY SE/G 13 Contd.
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1.

OPTION -B
Paper : PHY-SE-3024

(Computational Physics Skills)

Answer any four from the following :

(@)

(b)
(c)
(d)

(e)

(9)

(h)

lx4’4

What are the three different types of
Linux ?

Write the Linux code to save a file-

What doeg a character set mean ?

Define g flowchart.

What is the difference between a/ b and

a%b ?

What is g Compiler ?

t
Write the 1nCrernent and decren’leﬂ
Operators,

How Wﬂl You write x2 in GNUPLOT

Ans
Wer any three from the fouowmg L 3=6

(@)

(b)

Write i o ve)

haracteristics of high le¥

langUage [HLL)

What are
the effic

in
the two factors that deter™

(c) What are the three types of selection
statements ?

(d) Write any two advantages of breaking
a program into a subroutine.

(e) Draw a flowchart to find the area of a
circle.

(f) Give the command to plot 2-D functions
and data in GNUPLOT.

3. Answer any two from the following :

ox2=10

(a) Write a note on various LINUX text
editors.

(b)) Write a note on variables and data
types.

(c) Write an algorithm to convert Cartesian

co-ordinates to spherical polar co-
ordinates.

(d) Describe the common types of boxes in
a flowchart.

() What is an array in programming and
what are its characteristics ?

(/ Explain GNUPLOT suitable for
scripting.

3 (Sem-3/CBCS) PHY SE/G 15 Contd.



4. Answer any three from the following: | | OPTION - C
103=63 P PHY-SE-3044
aper : =3E~
(@ What are the functions of an operating "o p -
System ? What are different types Of ( Digital Photography and Editing )
Ollljeratmg System. Describe any one of 1. Choose the correct answer of the following
them. 5+3+2=10 questions : (any four) BN
(b) Write the algorithm and draw 2

(A) If you are shooting a photo and want
to go a greater depth of field in the
image, you would shoot at

lgorith draw a :
owetionn oo 2nd (@ F 2.8

flowchart to find the roots of a quadratic
€quation. 5+5=10

() Write an 4

R plot trajectory of 2 -

BIGICCHN  thrown  at  anddl ) F16

angle with the horizontal. 5+5=10 fe)" F 7.1
d : . j '
i i’;plam With example what do you C A B

‘Sua? b.y' Eh_e terms, ‘Dimension’ and (B) When shooting in manual mode which "

At SC”Pt In arrays. Also comparl® of the following controls the exposure
i ays with linkeq lists. 5+5=10 . of your computer ?
e > 5

foiiztlnfdetail about the layout and (a) Aperture
0 What S Wiiting;, program. ~ (b) Shutter speed

a
executa]?lre €Xecutable and ﬂonﬁ (c) 1SO
e : :

€Xamp]e Statements ? Explain Wit (d) All of the above

replac What initialization ar ,
i €ment logic are 4 +6=10 (C) Basic element of video editing is

hat is p; ' :
Utilizati, sk [/Q » B G rroitor its (a) capture
% for Windows and Linux ? 0 (b) shot
() R 4+6=1 | (c) timeline
Xplain abOU_t . i
‘ GNUPLOT functionality” (d) All of the above
3 (Sem-3 /C BTt _

BC 3 (Sem-3/CBCS) PHY SE/G 17
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(D)

(E)

(F)

(G)

(H)

3 (Sem-3/CBCS) PHy SE/G 13

I \

Digital editing is known as

(@) linear editing

(b) non-linear editing
(c) tape-to-tape editing
(d) None of the above

A tripod is an essential piece of
equipment for right photography.

(@) True :

(b) False

Which artist is usually identified as 00
of the inventors of photography ?

(a) Nicéphore Niépce

(b) Ansel Adams

(¢) John Hersche]

(d) Thomasg Eakins

Resolution of an image describes

(@) the quality of the image

(b)  the Clarity of an image

(9 the size of the image in pixel®
() coloyr and contrast of the im2&”

In Whlch Stage dO you edit Video ?

(c) Post
~Pr .

One of the above

3 (Sem-3/CBCS) PHY SE/G 19

Answer the following questions :

(any three)

(a) Why is exposure
photography ?

2x3=6

important in

(b) What is white baiance in photography ?

(c) What are the types of exposure in
photography ?

(d) How does shutter work, when shooting
videos ?

(e) How does a camera tripod work ?.

(/ Why is manual focus important in
photography ?

Answer the following questions : (any two)
5x2=10

(a) Explain about digital camera. Which is
‘ the best digital camera ?

(b) Describe different types of light sources.

(0 How does white balance affect an
image ?

(d) How does digital video work ?

(e) Write one disadvantage of using digital

zoom. How does digital zoom work on
a camera ?

() What is white balance -? Explain.

Contd.



4. Answer any three of

questions :

(@) Write short notes on :

() Digital camera

the

following
10x3=30

(i) DSLR

(b) Describe various parts of digital
videography,

(c) Describe the control and features Of
video camerg,

(d) Explain change couple device.

() Write the difference between lens and
iris.

0]

Explain digital nojge.
(9) Explain the
0 vides Camerg,
(h) Describe

abnormg) e

S(San—s/CBCS)PHYSE/G 50

. Y

function of shutter in digital

different methods fOF
vent detection in video-

OPTION-D
PHY-SE-3064
( Weather Forcasting)

Paper :

Answer either in English or in Assamese.

1.  Select the correct answer : (ar.ty Jour)

1x4=4

ww Seaes! A Tl ¢ (Remean 51f<6))

(a) Standard atmospheric pressure is called

1 atmosphere of pressure. It is equal to
76cm of Hg and it is equal to .

el TG BIoF 1 ISR B9 @Ie |
G2 A 76 (CHBN ARTST TN o= Wi
o e

(i) 101.3 kPa (a0 iitger)
(i) 10.13 kPa (Rt =icme)
(iii) 1.013 kPa (et «iitme)
(iv) 1013 kPa (Rt #ftze))

(b) Ocean surface cover per cent of
the globe.
TR RSk *foiel IR wiicg
{i) 50
i) 71
3 (Sem-3/CBCS) PHY SE/G 21 Contd.



(g

)

(d)

. (lv)

i) 60
() 80

Dry air, by volume, is more than 99 per

cent °°mpose d of

TR Rptete, o g 99 mm@ﬁ

—— I e

N1tr0gen and Oxygen
(gt W% SifSiee)

i) N
) Nitrogen ang Hydrogen

(iii) :f?m TS JRgE)

_ g€n and Carbon dioxide

(SR o, iy wizerize)
YdrOgen and Oxygen

(% SR m)

SXample of greenhouse gas is —

2.

(e) Wind direction is determined by

3 SRR Jor T B 71 = |

| (i) anemometef (STATBR)

(i) hygrérrieter (@ﬁﬁﬁ)
i) wind vane (33 (%)

~(iv) thermometer (QGHTBR)

Fifty per cent of the total mass of
atmosphere is confined in from
earth surface.

IENGT Yo ST ABN Tl WG 0F SE
ﬁf\@%ﬁ [ ___ vEge|
@) 1.5 km (REfoR)

(i) 2 km (ﬁvcarﬁm)

(i) 4 kem (Re=nfiiom)

iv) 5 km (Re=fRGR)

Answer any three questions : 2x3=6

Rzl fofabr eT Tex faa ¢

(@) What are the differences between

tornadoes and hurricanes ?

BRET Ui YRR Ters ik & fe.

3 (Sem-3/CBCS) PHY SE/G 23 Contd.
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3.

b))

How,en"lronmental issues are related
to climate ?

AR AR TEAIYI F© casm?zﬁ

A 51“’”% ?
(c) How | is relatlve humidity calculated ?
» _WWWW&WIW@?
’( ) What is Rayleigh. scattering ?
- R R e
(e) What is hyetograph ?
REChIATH
(/ How ar
'_ measureil ";de speed and ‘direction .
oI %
fo ars fi T oot T e
Answer qn
Y two questions - 5x2=10
- et g onye T a2 |
(@) How Variation of ,
mtenS1ty do rainfall amount and
g pend on wind direction ?
AJ
‘ﬁ'%’ VA WW AR e STl

wﬁmw@ﬁwaﬁaﬁaﬁs«« -

(c)

@)

(e)

R ST ?

What are the factors that affect wind
motion ? Briefly explain. them.

mﬁemmcmaﬂwﬁs k

. e (SRR ST I =

“Modern weather forecasting did not

-‘become possible untill weather

information could be collected
assembled and. processed rapidly.”
Explain it.

“oigfae T99 AR AT A A
@fenitee Rfes o9 MAZ, TIRA =<
wlewiis Reemd 783 Nt 17 23R [ 34 |

What are the most important
parameters to forecast weather ? Briefly
discuss about them.

ToTq IR AR SRS @@mﬁm

- A e I REE B SN 34|

Discuss about General Circulation
Model (GCM).

mmqaeﬁwmwﬁ(c;cm)aﬁmwm'
-

3 (Sem-3/CBCS) PHY SE/G 25 | Contd.



4, Answer
WEr q .
' Y three questions : 10x3=30

ﬁm%mm%ﬁns

(@) What :

‘ at . . .

.o Pret:sipli)trzc‘lpltaﬁon ? Describe forms
tion. Mention precipitatio® -

(b} -

(¢

(@)

(e)

3 (Sem-3/CBey) Py &
E/G

. 'Chara,;?teriStiCS. )
A
ez %2 R e e 2o
D- °. W m W WI
~1SCuss ab . .
forecast | Ofoxz:&c;rt and medium range
ﬁmﬁqﬁm r.
W sifPRe :
:@W Ay IO SIS [
1Scusg’
chsh‘ibl-itionsolar radiation energy
Tser GiR Techanism in atmospher™
Wy R R R oo S
Weathe,

an .
Hows ?s climate are differen®
TR > Climate change ?

R
e Wmﬁ'm?mﬁﬁ?@

Give d

ab Ctaj]
SOrptj ed €xplanation apbout’

radi ) on) em' .
a ) is ;
tion ; sion and scattering

ey Osphere.
Rogs ﬁzia% AR Bt o, Tl S
2 %‘{ - fo >

26

)

| (9)

()

3 (Sem-3/CBCS) PHY SE/G 27

Write a short es_éay on global warming
~ and its outcome. I
e Tasel 3% il A R i o
. -

What are different layers

of
atmosphere ? Discuss the
characteristics of these layers.

'mmﬁ%ﬂwwﬁsﬁ? % THARE |

sl all
Cloud is the main source of rain. What
are different types of cloud ? Explain

one by one.
IR T A T | Rfen ooT e @
e B! AT AT T
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OPTION -E
Paper : PHY-SE-3074
(Applied Optics )

A?’LSw 5
er elth 5 )
*€r in English or in Assamese.

1l Answe
ra '
nY four of the following questions:
. 1x4=4
ﬁ) %:m TR 5 (R Y
Tite the iy form of LASER
LASER '
i THOR Sief oight v |
Ine refractlve Index
o Aol R g
Define Chitical ang
gle
. ‘:;:3 PR ) figy
| at ig stimulated
g absorption ?
(¥) What - il :
1 1S attenyqy .
ation ;
s Svows Uiy N'in fibre optics ?
(vi Wy i | bl
Ocesy -
PGk S8 in holog?;;d gln reconstructio?
mﬁﬁm%.
o Uiere (oo 7@
3

Sem-3/CBCS) PHY SE/q o
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P T

(vii) What is rnetaétable state ?
GiICEae oEl 57

(viii) In which principle holography is based ?-
wora fofemad Tt &2

Answer any three of the following
questions : - 2x3=6
oo gl fofan e Ted il & ]

(i) Why is total internal reflection used as
‘a principle in optical fibre ?
SIETTeEs Siea ¢ 5 Afowwe 5! JENIO
fepieet. o a2 o1 =2 '

(i) What are step index and graded index

fibre ?

(B9l HTH T (ATTT LTI T TS (T

(i) Why 1is spontaneous emission not

suitable for LASER action ?
e e A TS of & qge
DET : ;

(iv) A sodium atom radiates for 4x10712 sec.
What is the coherence length of light
from a sodium lamp 2
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¢ uonoe
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; ‘ QMSUV :
©

b lsalile, Ebb] bblials) bitldlelttiele] A s s

NSV oN-2H UO oj0u 1J0US B 2ALIM (n) ¢ Suness 339.18 s
St Yeypm (1)

[ |teqlisDliey 1DIb] 1) | |
lls bz bbls 94 &) 2] Db bl [psle | e ign e bk g gg;@ggll&;&;%m

s Lsable blihleb] I(bickin Galeic Bl
B ‘ AFSVT 1OINIPUODNWES 3o 53e)Suespes
p

"UOTSI2AUIL s D i
: - 2 95BlUuBA
uonyendod 10§ sjusuraImbal snoLrea ‘ Pe suo SN

Ssnosi( ‘UoISIoAUl uvonemdod augeqg (1) ‘ e T
: : ' l ?J /'hl & é

5 3| Dfleblla ] B b blib blialo) i pballe) bbllq lbalq |ab | by ooy bl
k] 1ble blbblb] QLR Gl bhlial) | bk BRSO 5 0Txp sy




(vi) What are various usage of optical fibre

24 Imaﬁf@ﬁ'«ﬂﬁ ERGR |@T{ﬁ$ﬁ’q@ ‘ in different fields ? With the help of a

block diagram explain the working of a
fibre optic communication system.

4+6=10
Sfen A (Fae SiETeoes JIF & &2
PrAfS  zy 3 : @Bt TR TIEE AEPOST P A JF
Rl ? TR PR A | - foar S
ik (vii) What are different types of hologram ?
(HI} What : o :
2 Write a short note on applicaton o

RN eigzs) 523

What j ;
at is coherence > Discuss in detﬂll

about 3
the two types of coherence-
0 +4+4=10

(i)

Te 3 : —_ 11
LASER‘) Elnsteln CO-effICleﬂtS 1 7 holography % micrOSCOPY- - 4+6=10
€Tive relations between therm . _ .
i 3+7=10 P FFEEE & Fe wgIwd @o
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OPTION-F
PHY-SE-3094
(PageMaker )

Paper :

1. Answer any four of the following questions:

° 1x4=4

Which menu contains the ‘Rounded
Corner’ option ?

How many columns are there in the
newspaper ?

What is the extensmn of file created in .

PageMaker 7.07.
What is ‘leadlng ?

What is the first Steﬁ of the page layout

for desktop publishing ?

Which menu containg the ‘Document
Setup option ?

In which menu ‘insert
located ?

What tool is used tg move graphics in
PageMaker ? :

2. Answer any three ofthe following questions :

(@)

2x3=6

-How can you insert and remove pages ?
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page’ option is

4.

Define Layout’ menu in PageMaker.

What is master page ?

Define ahgnment in PageMaker

- What are ‘Fill’ ?

Write the ,full form of DTP.

Answer any two of the following questions :

(@)

(b)

(o)

(d)

(e)

0

(@)
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5><2 10
What is Text Wrap ?

erte a note on ‘Wmdow menu of
PageMaker.

Describe about features of the ‘Tools’,

How to apply colour to text and

_graphics ?

Write a short note on master pages.

Explain the use of ‘Document Setup’.

Answer any three of the fOllOWing questions :

10x3=30

How do you create a ‘Character’ and

“Paragraph’ ? Explain various steps with

diagram.

Contd.




(b)

Write a descriptive note on ‘Arrange’ in
PageMaker.

(c) Describe the step by step process. of
opening a new file in PageMaker." _
. (d) ,Eicplain (i) adding text and ‘lines;
(ii) formatting Text, and (iii) saving and
__ printing a publication. '
(e) Define ‘Type’ menu, What features are
there in it? Briefly explain all.
() Write short notes on Grids, Rulers and
Guides. Describe their importance.
(99 Write different steps involved in !
_ wrapping text around a graphic.
(h) Describe PageMaker in your own word.
B il
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